Rodicalen
‘ SLN?LI AL
a.\\,‘ \J—— ‘\5/_ 2_2 2‘/{5 230 G 15730
= €30 _'2 @ RCAMUJW&’BO\,U\AAC cemin Pour_q,
multiplear MC—M(Zf,so)

\/42\J \]?—5’ \ES 3{723 J 235 5.5 -

fl 5 ) 2 032 20
S‘"‘Fl*ﬁc*’“m ( 4 qx?mmJCeb <2,

.Re.\Jéich o wn o m\}wu i} \I'
)\t =\3=®) BV Vhoscaty aaxa\aﬂ/)

4‘—

<]

‘Smpl»fnm. 222
\/Jx . e @‘\/—x.. & wh
A5\ Q\l"ﬁ\‘i[—a\]——xaﬁ% sy
n 2:2-2
- Xg - 2/8 '/4 | |
X8 o4 ——Df-?(%‘-wﬁa

2r+7ﬁ~ﬁ 2@3+¥@_\}—2q_
=2:5:\3 +% S\I’T 23 = (10+21-4)V3 = |2}\]“|

d) 352 - 5179 +\17 = 3-05- 527+ 28 =
= 3-0%\2- 5702 +32Z= (12-35+3)> —.‘~eoﬁ _




=2 5
‘afﬁl_—f@ 2 w2 sie

3.\ o7 Zls

128 \l_;_ UZ \]—mv’

Qé?j{, 2 33 15 332 lsild:-i,
V 3

. 1o 3 V_ 316

o) iﬁ" ..ﬁ

o B o o
.4 .

Z_ 212

49 Resonolizn 53l 5§‘f— f57_ 15
5’44—33

@qu.g . ,::.LJE'SS:N_ 35 _

R
_ 3 _ 345 35905
A 10 30

~(-03
G- -G ATE_ (R (366,
G8) Rasianaliza oG B[R-S
- (@at2mE)_ - (24320) oy
2-3 4




o . @ \}ﬁ W— o- ‘ﬂ; _
\’ ch% \]():l"r"§ @

(O-'r) d"'—"'r (cL \J_) \/ a+\(E
ot-\b* ~b

513) 3 ( 2E f (5368 _3[ 255w _
\5+3@ |/ [N5+300)((5-3) V52— 38
3 3
:\) 2-5-C-10 /_50 3’2 ,?I'z‘ V¥ e #
e NTzm T\ F IR TA? #
5-.9.20 T ?WE

-

>

3\/7 NG :3 zﬁl \/{V
\F§+3\lg—p VE+le ~ Vs

\ENS

1 Awtmm”mmbmom posa. Paiuaphmxcco»oc

(125%) Rosisnaliza. 2 ) . (3+Vs)+V3 _
3+15-\3 (3+\I_5)~\r3 (3+5 )3 \/u,eﬂvo a oplicen

2:(3HE+3)_ 2 (3+\F5+\J‘) 2« (B+FH3) | A1l - (% _ com

(3+\l‘)’“ V32 T 945441 -3~ 4M14<VE M-
(6
_ e+ dvza2m) (11-015) _ 22 23(\E +22 5 Z12:5 +2203 -12115
12 - A\Er 121 =
~3¢(5

L — 145 +22V3 -12\15
- 59

| )






